SAP ABAP table /TDAG/CPT IMDENT {CP: IMDS entries}

_TDAG_CPC_WLSTAT
[TDAG/CPT IMDENT-WLSTATUS = [TDAG/CPC WLSTAT-WLSTATUS

_____________ 0N [WLSTATUS [CHAR (10)]

T AENR
/ /TDAG/CPT IMDENT-AENNR = AENR- %E—Il\Il\{R_ _________ IN MANDT [CLNT (3)]
______________________ AENNR [CHAR (12)]
i ~ /TDAG/CPT IMDENT-MANDT = T000-MANDT
_____________________________________ T000
o [TDAG/CPT IMDENT-SRSID = TCG56-SRSID 0..N MANDT [CLNT (3)]

ST T -- TCG56

—_— —
—_—

0. N | MANDT [CLNT (3)]
SRSID [CHAR (10)]




